

Fax: 815-288-3637

Page 1

QUOTATION 146000126

BIII To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068 Ship To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068

Contact: Andrew Cunningham

Contact #:

	Elliali.	acunningnam@mu.net		
Date: 10/28/2022 Customer Rep: Cameron Lundquist		Terms: Payment Upon Receipt		
Quantity	Item // Description	Unit Price	Extended	
30	AAH90ZDU9RH1AN-P	2,850.00	85,500.00	
	MOTOTRBO ION Two-Way Radio 1000-Channel UHF Package			
30	AAH90ZDU9RH1AN	0.00	0.00	
	MOTOTRBO ION Two-Way Radio 1000-Channel UHF 400-503, CBRS, Wifi, BT, LTE			
30	QA08146AA	0.00	0.00	
	"ADD: UHF STUBBY 6CM ANTENNA, 440-490MHZ"			
30	STDBAT0734AA	0.00	0.00	
	STANDARD BATTERY			
30	STDBOX0734AA	0.00	0.00	
	STANDARD MODEL BOX			
30	STDBLT0734AA	0.00	0.00	
	STANDARD CARRY HOLSTER			
30	STDCHG0734AA	0.00	0.00	
	"STANDARD CHARGER, US PLUG"			
30	STDSYE0734AA	0.00	0.00	
	STD:MOTOTRBO ION CODEPLUG OPTION_NA			
1	OAO	0.00	0.00	
	ORDER ASSEMBLY, OPTIMIZATION			
13	AAH02RDH9VA1 N	1,000.00	13,000.00	
	XPR 3500E 403-512 LKP WIFI CAPABLE			
13	PMMN4127A	210.00	2,730.00	
	WM500 Wireless PoC/Radio Remote Speaker Bluetooth			
4	PMPN4498A	710.00	2,840.00	
	"IMPRESâ,,¢ 2 Multi-Unit 1-Display Charger, US Kit"			
2	T8319-P	11,000.00	22,000.00	
	SLR 8000 BASE RADIO Package			



Fax: 815-288-3637

Page 2

QUOTATION 146000126

BIII To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068 Ship To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068

Contact: Andrew Cunningham

Contact #:

_		3 2		
Date: 10/28/2022 Customer Rep: Cameron Lundquist		Terms: Payment Upo	rms: Payment Upon Receipt	
Quantity	Item // Description	Unit Price	Extended	
2	T8319	0.00	0.00	
	SLR 8000 BASE RADIO			
2	CA02985AA+AA	0.00	0.00	
	ADD: DUPLEXER UHF 435-470MHZ			
2	CA02962AA+AA	0.00	0.00	
	ADD: UHF1 (400-470MHZ)			
6	PMPN4524A	75.00	450.00	
	"IMPRESâ,¢ 2 Single Unit Charger, US Kit"			
1	FCC License	1,200.00	1,200.00	
	FCC License			
2	65143	1,417.56	2,835.12	
	DB408 Antenna			
5	0112004B04	124.63	623.15	
	Cable - N Male/N Male - 24			
5	0112004U04	79.20	396.00	
	Coaxial Cable with Connector - 24			
1	CODEPLUG GENERATION	500.00	500.00	
	Radio Code Plug Generation Talkgroup set up & button mapping set up			
48	R PRG	40.00	1,920.00	
	Radio Programming			
43	BTMAINT-PORTABLE	90.00	3,870.00	
	BECKTECH PORTABLE MAINT STD 5 YR Service Agreement			
5	BTMAINT-MOBILE	120.00	600.00	
	BECKTECH MOBILE MAINTENANCE STD 5 YR Service Agreement			
	Out vide Agreement			



Fax: 815-288-3637

Page 3

QUOTATION 146000126

BIII To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068 Ship To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068

Contact: Andrew Cunningham

Contact #:

Date: 10/28/2022 Customer Rep: Cameron Lundquist		Terms: Payment Upo	erms: Payment Upon Receipt	
Quantity	Item // Description	Unit Price	Extended	
70	IN	115.00	8,050.00	
	Installation Radio system			
5	HAE4003A	30.00	150.00	
	"Urban UHF 1/4-Wave Through-Hole Mount Antenna, 450–470 MHz"			
5	572268	225.00	1,125.00	
	Samlex SEC 1212-MT- Power Supply			
1	MISC	500.00	500.00	
	Misc. Hardware Radios			
1	R PRG	90.00	90.00	
	Radio Programming			
1	Beck Tech Trade-in	-3,000.00	-3,000.00	
	Beck Tech Trade-In Discount Trade in discount for SLR8000 VHF.			
13	HKVN4414A	84.00	1,092.00	
	NA MOTOTRBO LCP Multi Site			
2	HKVN4110A	5,750.00	11,500.00	
	SOFTWARE,CAP+ MULTI-SITE MTR/SLR8000			
5	AAM28QPN9RA1 N	1,300.00	6,500.00	
	XPR 5550E 403-470M 40W GOB BT/GNSS/WIFI			
1	Y-4400160	7,700.00	7,700.00	
	Teldio TruFleet Enterprise AVL Radio Interface, EMail, Replay/ Routes			
	Web browser AVL application (unlimited connections). Radio system interface module. Email.			
	Route replay and reports.			
30	Y-4400061	66.67	2,000.10	
	Teldio TruFleet Subscriber Lic Non-telematics location tracking user license.			



Fax: 815-288-3637

QUOTATION 146000126

Page 4

BIII To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068 Ship To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068

Contact: Andrew Cunningham

Contact #:

Date: 10/2	28/2022 Customer Rep: Cameron Lundquist	Terms: Payment Up	on Receipt
Quantity	Item // Description	Unit Price	Extended
	. E series radios needed for indoor radio tracking. Support for Cradlepoint devices - tracking 30 users via GPS.		
30	Y-4400077	8.00	240.00
	Teldio Basic Geocoding Lic		
	Basic reverse geocoding for US map data. Annual fee.		
1	T-S0005	1,702.80	1,702.80
	Teldio Standard Desktop Server Win 10, 4GB Ram, 500GB, Sound Card		
	Dell, HP, or Lenovo mini tower desktop computer w/ C (includes mouse a keyboard; minimum 4GB RAM) Operating system: Windows 10 Professional 64bit Preconfigured with purchased TELDIO software & required sound cards. Monitor not included.		
1	T-000551	1,720.00	1,720.00
	Teldio Support & Software Assurance		
	1 year of support. 8am - 6pm EST phone/email support/remote available on weekdays. Email support available 7 days a week. Response within 5 hours on weekdays & 24 hours on weekends. Excludes Canadian holidays. Free software upgrades. Hardware support not included.		
6	T-000009	300.00	1,800.00
	Teldio Sys Config & Install Support Remote application/s install & technical support.		
1	Y-4400020	3,134.25	3,134.25
	TruFleet 3rd Party Interface License (TruFleet Add On) Listed as optional on TELDIO quote.		
3	81410	86.93	260.79
	Polyphaser		



Fax: 815-288-3637

Page 5

QUOTATION 146000126

BIII To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068 Ship To: ROCHELLE MUNICIPAL UTILITIES 333 LINCOLN HWY# 1684 ROCHELLE, IL 61068

Contact: Andrew Cunningham

Contact #:

Email: acunningham@rmu.net

Date: 10/28/2022 Customer Rep: Cameron Lundquist		Те	Terms: Payment Upon Receipt	
Quantity	Item // Description	+	Unit Price	Extended
2	HKVN4208A		863.00	1,726.00
	SOFTWARE, DATA NETWRK INTRFACE MTR/SLR800			
2	HKVN4055A		863.00	1,726.00
	SOFTWARE, ENHANCED GPS MTR/SLR8000			
2	HKLN4442A		250.00	500.00
	MULTIPLE RDAC,NAG			

Costs for Premium wages are not included in this proposal. Beck Tech's standard working hours are 8am to 5pm, Monday through Friday excluding holidays. Use of this quotation is based upon the understanding that Beck Tech, a Barbeck Company has necessarily assumed certain conditions in order to arrive at its best estimate for doing the work. In the event that actual conditions vary significantly from our assumptions made at the time of the quotation, then a fair adjustment to the price is expected.

Subtotal: \$186,981.21 Applicable taxes are not included

These include but are not limited to:

- Physical conditions significantly different that could not be determined from a reasonable inspection of the Worksite and/or information supplied by customer.
- Inability to start or have reasonable uninterrupted access for Beck Tech until work is completed.
- Reasonable prompt resolution of any questions that may arise in the course of the work, including necessary approvals by the customer or its agents.
- Terms are AS STATED ON THE INVOICE and late charges will be assessed for invoices paid outside of terms.

Thank you for the opportunity to offer this estimate. Please contact us at our main office if you have questions at 217-428-7000.

Signature:			
PO Number:			
Date:	-		